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MCF3MI Unit 3 Day 7 Solving by Factoring — Day 2

To SOLVE a quadratic word problem by factoring...
1. Rewrite the equation in standard form (ie. ax? + bx + ¢ = 0).
2. Factor the quadratic.
3. Solve each factor as a linear equation (ie. Let each factor equal zero and then solve -
Lesson 2). These values are your solutions to the quadratic equation.
4. Interpret the solutions in the context of the question. It may be that both roofs don’t
make sense — only one does!

Example 1:
The profit of a skateboard company can be modelled by the function

P(x) + 133x — 14x*, where P(x) is the profit in thousands of dollars and x is the number of
skatebpards sold, also in thousands. Determine when the company will break even and when the
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Example 2: Y= /
The path a dolphin travels when it rises above the ocean’s surface can be modelled by the
functio (d) —0.2d? + 2d Sfhere h(d) is the height of the dolphin above the water’s surface
and d is the nzontal distance from the point where the dolphin broke the water’s surface, both
in feet. Wen W1l the dolphin reach Shgight of 1.8 feet? > \D
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